\\dcOT\rwbc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

<) Dunbarton.

CORPORATION
868 MURRAY ROAD, DOTHAN, AL 36303

ACHIEVER

STEEL FRAME SYSTEM
Center Hinged Patio

Utilizing a Steel Door Panel

INSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th
Edition (2020) Florida Building Code (FBC) structural requirements
excluding the "High Velocity Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details.
Anchor embedment to base material shall be beyond wall dressing
or stucco.

When used in areas requiring wind borne debris protection this
product is required to be protected with an impact resistant
covering that complies with FBC Sections 1609.1.2 & R301.2.1.2.

Site conditions that deviate from the details of this drawing require
further engineering analysis by a licensed engineer or registered
architect.

77.25" MAX. O.A.

35.75" MAX.

FRAME WIDTH

83.00" MAX. O.A. FRAME HEIGHT

PANEL WIDTH

79.00" MAX. PANEL HEIGHT

.
’f,,,,
77.25" MAX. O.A. \ A
FRAME WIDTH
35.75" MAX.
PANEL WIDTH
/ /
/,// ///
/ /
O X 1o
®
/ /
Vi Vi
/ /

TABLE OF CONTENTS

SHEET # |DESCRIPTION

Typical elevations, design pressures & general notes

Door panel details

Horizontal cross section

Vertical cross sections

Vertical cross sections

Buck anchoring

Frame anchoring

Components

O |0 |N|ON O [WIN|—

Bill of materials, glazing details and components

w/ Decorative Inserts

Retangular Glazed

Retangular Glazed

STEEL

77.25" X 83.00"

35.75" X 79.00"

21.00" X 63.00"

August 11, 2020
Documents Prepared By:«,(J4 e,

O

K
O

\\‘\\

NAL €

UImmns

*-.FLORIDP. .*

S

/

SIon

/7

P
,,/
/,
‘7
BUILDING CONSULTANTS, INC.
813.659.9197

7
P.O. Box 230, Valrico, FL 33595

Phone No.:

W

Lyndon F. Schmidt

R

FBPE Registry No. 9813

DUNBARTON

ACHIEVER STEEL FRAME SYSTEM |P.E. No. 43409
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

JK
BY

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:

8/11/20 |UPDATE TO 7TH ED. (2020) FBC | DAC
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

MmN

1

NO) DATE

REVISIONS

DATE: 3/14/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL—15362.3

sheer 1 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



\\dcOT\rwhc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achieve\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

KNOB: FI3 SERIES
PAMEX DEADBOLT:  FD2 SERIES
35.75" MAX.
PANEL WIDTH
21.00" MAX.,
D.LO.
D
|
/
VA
’—- -
5 9
¥
e
<€
E = @ X °
&5 - —
S N
g S olT
= SEE HARDWARE
= CHART
&

/
Va
/

S

JELD-WEN STEEL DOOR PANEL

{Rectangular Glazed)

HOMERUN SEALANT

ODL HP LITE FRAME EXT.
READI-SEAL SEALANT

2,

ODL HP LITE FRAME INT.
#8 X 1-1/2" PPH SMS$

EXTERIOR

¥/l
i
r7
7

EXTERIOR

GLASS BITE 3/8"
ALUM SPACER

1/8" TEMPERED GLASS

/AIR SPACE

A~

\1 /8" TEMPERED GLASS

s |

INTERIOR

GLAIZING DETAIL

]ll

1.7

e

<> TOP RAIL
LvL

" j&f_n]

[I——
. BOTTOM RAIL
Steel
211 *t
DOOR SWEEP

0.83"

1.3

———1/2" OVERALL GLASS THK.

INTERIOR

4.06"

~— 3.06" —~]|

11.88"

q)"b

-t

s

R
(o]

’ 55"

. LOCK BLOCK

/"1 "\ HORIZONTAL CROSS SECTION
2

N

I/,
/,
N,
O

::: o]
~— - (=]
:I:gl 3
zoil ¢
293 2
’, w’..
7 >
,,/ Pecneens-”
7
"y, +«
nn

INTERIOR

EXTERIOR

POLYSTYRENE —\
g

STEEL DOOR SKIN

024" THICK
___\

2E

2D

(2" VERTICAL CROSS SECTION

\2/

-
-

August 11, 2020

P.0O. Box 230, Vairico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

DUNBARTON
ACHIEVER STEEL FRAME SYSTEM
DOOR PANEL DETAILS

PRODUCT:

DAC
JK
BY

9/29/17 |UPDATE TO 6TH ED. (2017) FBC | LFS| PART OR ASSEMBLY:

8/11/20 | UPDATE TO 7th ED. (2020) FBC
3/23/15 |UPDATE TO 5TH ED. (2014) FBC

NOJ DATE

3

O

REVISIONS

pATEQ3/14,/12

scaE: N.T.S.

pwe. BY: JK

cHk. BY: LFS

DRAWING NO.:
FL—-15362.3

SHEET 2 oF 9

© 2012 R.W. BUILDING CONSULTANTS ING.



TONG SLNVYLINSNGODG aNIQTNg "M’y 2102 @

€186 'ON Aisibey 3de4 SNOISIAZY
LELE'6G9'CLE 'ON ®Buoyd A8 31vd [ON ry _
S6SEE 14 ‘O9MIDA ‘0€Z X0 'O'd \§ SNOILO3S SSQ¥O TYINOZIMOH _ |"5r T a3 (#102) “a3 HIS oL avadn| si/ez/el 1| &yl |9 |
"ONI ‘SLNVLINSNOD ONIQTING \Wmu TA18N3SSY 0 Lvd I'SS71 084 (Z102) "03 HIS Ol 3Ivadn|/Zi/ez/6 | € V N g e 8 &
ovd| 084 (020¢) ‘a3 4. Ol 3vadnt 0¢/Li/81 ¢ |2 ew _
60vSH "ON ‘3'd S EEle TP
. z
pyos 4 uopuk| WILSAS IAVHS T1331S HIATIHOV i M slelE | B
: g s Ee ¥
NOIHMVENNG ~ :10Ndodd Slenld|Gia [

60vey "ON

C .

% libiiisg >

(/ \

\\\\sysxom a//// / . v v N s V
L > 7 S -

<
<.
v

v
AR v

A
(5 "\ HORIZONTAL CROSS SECTION

HORIZONTAL CROSS SECTION

3\
\y 2X Stud construction
.y

W 2X Masonry construction

@)

INTERIOR
EXTERIOR

INTERIOR

EXTERIOR

L A NN ]
O row T 2T ri

7“2\ HORIZONTAL CROSS SECTION

2
2
7
Z
Z
Z
9
Z
4
Z
Z Q
) 0
z

O

7“4\ HORIZONTAL CROSS SECTION

w 2X Masonry construction

INTERIOR
EXTERIOR

4

o

f

O

e

(7%

3
— ~ 3.j m xm
w0 N RSN O N — m
A w
@) V =5
O|o
NS . o &
) =S
D )’ _len

W !
(44 \

BMp'9-1'29£51-14\0202) 29ESL-T\SBUIMEIQ - D\IBASILDY pue YNYPaY - $100Q XJ BUBUIMS - Z9€5 L-T4\s[eA0iddy 1npod ePLIO4 - Y\IUBUBULISd UOMEQUNA\SIUBIDAIGMINLOIPA\



TONE SLNVYLINBNOT 9NIgINg MY 2102 §

€186 ‘ON Ansibey 3dad SNOISIATY
LBLB'6G9°CLE "ON suoud A8 3ivad [ON " _
S6SEE T4 ‘O2MIPA ‘0gZ xog ‘O'd § SNOILO3S SSOd9 TVOILYIA e 084 (¥102) 03 HIS 0l 3vadn| ci/sz/e| L | slx vl 2
"ONi ‘SINVLINSNOD ONIaTing @v *ATENISSY 0 Ldvd [SJ7 1 084 (£102) "03 HI9 OL 3Ivadn|/1/6z/6 | € V ) e I ° &
va 244 (020¢) "a3 Y12 ol 3vadnl 0z/11/81¢ |—~|= . g\ _
BOYSH ‘ON 'T'd V Bl Ele T|Y
Ipiwuyos 4 uopuk} WILSAS FAVYL T133LS HIATIHOV i w e &z &
NOLYYENNG  Tonaodd HEIHEBEEE

®
-

EXTERIOR

N

m VERTICAL CROSS SECTION

o v
o ~
:
j 173
=
o
O F
S S =%
[ k= o «n =
<
812 = 23
OlE o)
I < & Q
O oo
SE:
ES
SR
B @
of .
@ <] (-dAL) "aW3
m NIW ¥/ 1L
(3]
2 ®
/.\\vm/l\
p 4
a | > o : m
..b . —
a4 b < T
S Sl 3
g v %
3 [ ]
w 4 m
‘ (=4
{"dAL) "awW3 . R w
NIW ./ 1-1 ° <
. 8]
a8 s =
‘ 7.y 4 H
>
3 i @)
o , ,
oL 1
S m
. Z = O
B pv. [l m
LS m c —
_ GRS
[ 2 15®]
N L]
e |5
4 . C )
s & -~ >
s |
. > =ik
P 82
o x >R
-
L 8 @ &
Lol 3
0 E AU

Bmp9-1'29€51-14\(0202) 2951-Td\sBuIMEIQ - D\BASILDY pue JnYpay - $100Q 13 Bulbuims - 29€5L-T4\s|ea0iddy 1oNpoid BPLO} - Y\IUBUBWISG UOLBGUNANSIUDIID\IGMINLOIPA\



TONL SINVLINSNDOD ONIQINg "'Mm'd 2102 @

€186 ‘ON Ansibey Idgd SNOISIAZY
L6L6°6S9°CLE UON suoud Ad 3lvd TON " _
SBCLE 14 ‘OOUIDA ‘0T xog 'O'd \Su SNOIL33S SS0HD TYOILHIA ir 084 (¥10Z) a3 HIS OL 31vadn| si/sz/c| + | uix|Pl N
"ONI ‘SINVLINSNOD SNIGTINg g‘. -ATEW3SSY ¥0 Ldvd 1S4 | 084 (Z102) '03 HI9 Ol 31vadn{/1/6z/6 | ¢ V N e} 9 <
ova 284 (020¢) "a3 WZ oL 3ivadn| 0z/11/81 ¢ |~|= g _
60¥S¥ ‘ON ‘3'd NREEE R
YRR z |
pryog 4 uopuk WILSAS JAVYL T1331S ¥3IAIIHOV gi slylZ . ]
o 1Ag pespdeid sjusWINOog NOLYVENNA -LoNaodd 3 m I m %

&

G/
m
® ML

SOV (T ]

e

EXTERIOR

SALEANLS VNN

/4 \ VERTICAL CROSS SECTION

EXTERIOR

N

©)

O

i ot

-3 b= <€

il o =&

c e 5 e

0 m o <

G Z 2=

£ o)
[z}

5 Q

(8] i
je]
2
(7]
>
o~
W

7“2\ VERTICAL CROSS SECTION

{"dAL) "awWd
"NIW ./ 1-1

INTERIOR
|

=
o
[
S ¥
x vy
5 )
4] [ 2}
O
oL
("dAL) "gw3 w
NIW 7/ 1-1 <
O
|
o]
>
X (@)
]
z
L Y m N
E 2
\ ms B
23
oOl&
&l
0|8
=
2
B
SNES
&

INTERIOR

Bmp9-129£51-14\0202) 29€5L-TH\sBUIMBIQ - D\BASILDY PUE N}IPaY - 51000 I3 BulBUIMS - 29€SL-Td\s|eA0Iddy 19nPOId BPLOl - Y\IUBUBWLISG UOLEGUNANSIUSID\IGMI\LOIP\



"ON] SINYLINENDOD aNIgTing "m'd 2 Loz @]

€186 'ON Ansibey 3dad SNOISIAZY
L616°6S9°CL8 ON suoyd A8 3IV4_[ON] o M | o
G6SEC 4 ‘O9UIPA ‘0£Z X0@ ‘O'd \SV INIHOHONY - »0Nn8 i 083 (#102) 03 HIS 01 Avddn| Gi/eg/e| 1| WX m o r_
"ONI ‘SINVLINSNOD ONIGTINg g. "ATBW3SSY ¥0 1uvd |S37| 084 (Z10Z) ‘03 HI9 OL 31vadn|Z1/62/6 | ¢ | <= .6
,c:xc&:s\ OV | 084 (020z) 03 HIZ Ol 3vadnloz/ii/8 [ £ |1|%| | (22 6_
g2 VNO/e 60¥Cv "ON “I'd| WILSAS IAVMA TIILS MIATIHOV W & 5]e |
SO yailiogy . 07, Ipnwues w4 uopui NOLYVENNG Blzlglg|z =B
II&... .... e 1Agl peindesd sjuswinoog 1LONA0Hd IR %
L0y . 8= 0202 ‘I isnbny
F A ¢ -
L M PNz
- . BOVEPON ¢
-, . s III
v, N A
\\\\&Q\wmzmo NS
\\\\ :Icm ////
TN
. n DOXYW
« ST'61
1 i ) I i
| 1 1 1 i
3 =z
o=
L i
o M ﬂ
= 65
5>
% ¢ SxZ
N =26 e
=
iRIB fv S
R =
[ e T =
- g
} 4
. ¥}
F
R ..
4 M "‘.‘VA.
- L) (.c.
SRR 1 I I S AR
b ®  S— I 1 I 1. g
N AR R & N ERRR SR SR < 5
5 | I e {3
< . > T2’ v o [o) .m m
v > Q =
9 ZZ £ 3eé %
2 @] 4 £ - U X
& <5 E T55
[O =
9 289
5 3355
£ ES
S k=G
T WITE g | =
e} z :m G o~ —
o &0-
Q Ogi
> zEE
m O 0
x5O
5 <tz
9]
£ 280
o} v =5 £ 3
O 0o< m m
£ B8 I
T45880 -
s OECSOE
3= O oy
Zl5EH5 § o s .
02075 %L | &
OlSEQL D008 ol
CERETEE
zZ © A
5988535% T
wO350L O z|= 5
Gogoecso 0|20
oD o5 L0 20
Ol s 28 o Eal=<g
ZI2 525 2 TR E
Ol69688s6| =g
OO0 EEQL
~ & @

€9 BMP'9-1-29£51-14\0202) 2985 L-T\sBUMeIQ - D\aAdIypY pue Yniipay - 51000 %3 BUIBUIMS - 29£5L-T4\s|eA0IddY 19NPOIJ PO - Y\IUSUEULIS4 UOLEGUNCASIUSHINY




®

X3

A h
1> of

MULLION TO HEAD DETAIL

6" MAX.
C.{

MASONRY
OPENING \

N

-

O.C.(TYP)
ferf;f;L777

¥
'y

)

| ®

TYP. HEAD
& JAMBS

S
TYP. SIDELITE
||| TO FRAME
==|||| ATTACHMENT

|
%

—] "

TYP.

It
j
f
]|
-

1|1

THIS TAPCON REQUIRED FOR
DP > 39 PSF ONLY

| LRAME ANCHORING
MASONRY CONSTRUCTION

2" *_I |t

o | |
O.C.{TYP)

CONCRETE ANCHOR NOTES:

MULLION TO SILL DETAIL

1. Substitution of equal concrete anchors from a different supplier may have different edge

distance and center distance requirements.

. Concrete anchor locations at the cormners may be adjusted to maintain the min. edge

distance to mortar joints. If concrete anchor locations noted as "MAX. ON CENTER" must be
adjusted to maintain the min. edge distance to mortar joints, addifional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimensions are not exceeded.

DeWALT . .
uirracony 516 1-1/4

3-1/8" Ly

WOOD SCREW INSTALLATION NOTES:

—

prevent the splitting of wood.

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of wood screws fo

2X FRAMING \

7"

THE ENGINEER OR ARCHITECT OF
RECORD TO DETERMINE FRAMING
REQUIREMENTS BASED ON WIND

LOADS AND THE CLADDING BEING

USED.

6" MAX.
0.C. (TYP)

I
2

-

—— 2.625"

.2 LJ T

|
“{6"
J
e —

| ®

— 6"
6"

TYP. HEAD
& JAMBS

TYP. SIDELITE

TO FRAME
ATTACHMENT

DP > 39 PSF ONLY

-

|
!

e ||
0.C. (TYP.) =

i: 6"
§ 25.125" —= 25.125" —=
; 6"
: 1
l

FRAME ANCHORING

STUD CONSTRUCTION

MULLION TO SILL DETAIL

31125

f*—~——31.125"

Ay

HINGE JAMB

SECTION A-A

STRIKE JAMB

39"

‘i._

5.50" —=]

® ®

HINGE DETAIL

®®

//
7

3
]

STRIKE DETAIL

I 4

2X BUCK
INSTALLATION

2X STUD
INSTALLATION

-

August 11, 2020

0
o
)
Y]
%n
£ N
G oL2R
.""
E dowo
Z9g50
St
b* 3060 0
D>z
D B 2
A\ &R
& ON - 9
W O O
¢ E ZH T
o [+ fa) -]
a £0 | . Cod
801- =0 90
a Y D Lem
+ oo
2
6 ¢
£ 6%
3 0,
g su
o Ja
=
5
S
0 &)
L =
= e
g S
o = L O
< 5=
—d
28 |3 2
S G W
Qwnm 0 =
0l <<
X <} OC
] Ll e
O s
i
ERE
n. < o
Oln
>..
3|55
33
s frf 8]
~~
=t
RIS
DN At ]
18 [n
slels| 6
81 &
T 2
ot o e
No=l |3
o e
PRl
S
oSS
ajajq
DDIS
O~
NN
\-&;}z
NN Y
BEN
~lo
Mo >
oaTE: 3/14/12
scale: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—15362.3

SHEET 7 oF 9

Ri\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg, 7.3

© 2012 R.W. BUILDING CONSULTANTS INC.




TON] SANVAINSNGOD aNigiing

M ZL0Z Q)

- 2.13"

244

W'

@ MULLION

2186 'ON Aisibey 3494 SNOISIATY
L616°6S9°CL8 "ON euoyd SININOdWO0D Ag 31vd TONJeN N 9_
S6SEE 714 ‘OSMIDA ‘OSZ X08 'O'd \Su | o84 (»102) a3 His ol dvadn| sifez/e LI sl |®| o |4
"ONI ‘SINVLINSNOD ONiding @w ATBNISSY MO Ldvd [S41| 964 (£10¢) ‘03 HI9 Ol 3lvddn|/1/6z/6 | ¢ | ¥ | 13| 8|S
, oval| 084 (0207) "3 Y. OL 31vadn| 02/11/8] ¢ IN\IZ]| g0 8_
/s so¥sy "oN 'a'd| WILSAS JAVYL T33IS HIAJIHOV M (sl Ele T
7, 1
%, PSS 4 uopuk] NOLMVENNa g w gl¢lF B
. D\W"\nm peJodeld sjuswinooq :10NA0Hd ARG %
= 0202 ‘L1 isnbny
9T W01
- W\ —
- o
& 2
O (o} o~ &
Q
N o
=
=
— 3
-0
—
e :m._. ] - ..Wm.o ] - :m”.V.o
T ‘)ll:mm.o
:—,M.O"_ T‘
<
Y (3]
A e 9200 W
=
5
=
= :GW.N _
=
O
X
g
=
ot :m._. e ] 0
=
S
* =

6mp'9-1'29€51-14\0202) 29€5L-T4\sBUIMBIQ - D\MBABIYDY PR 4n3IPay - 51000 13 Butbuims - 29€SL-14\s|eaciddy 1onpoid epLOjd - V\IUBUBWLISE UOLRGUNA\SIUBIID\IGMALOIP\\



BILL OF MATERIALS
ITEM | DESCRIFTION MATERIAL

A | 2X BUCK §G >=0.55 WOOD
B | 1/4' MAX. SHIM SPACE -

c MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F | #8 X 1" PPH SCREW (7/8" MIN. EMBEDMENT) STEEL
G | #8 X 1-1/2" PPH SCREW (7/8" MIN. EMBEDMENT) STEEL

J 1 1/4"X 2-3/4" DeWALT OR ITW CONCRETE SCREW STEEL
M [ #8X1-1/4" PPH SCREW STEEL
N | #10X2-1/2"PPH WOOD SCREW STEEL

P | #8 X'1-1/4" PPH SCREW STEEL
20 | SEALANT SILICONE
23 | #9 X 3/4" PFH WOOD SCREW STEEL
24 | #9 X2-1/2" PFH WS STEEL
25 | DEADBOLT STRIKE PLATE STEEL
26 | LATCH STRIKE PLATE STEEL
27 | HINGE STEEL
28 | WEATHERSTRIP FOAM
29 | FRAME STEEL
30 | JAMB REINFORCEMENT STEEL
41 | INSWING THRESHOLD (ENDURA) ALUM./WOOD
48 | #8 X 2-1/4" PFH SCREW STEEL
49 | #8 X 3" PFH SCREW STEEL
51 | #10X 3" PFH WS STEEL
52 | INSWING SIDELITE SPACER PVC
53 | 5/16" X 2-1/4" DeWALT CONCRETE SCREW STEEL
54 | #12X 2" PFH WOOD SCREW STEEL
60 | MULLION LVL
61 | MULLION CAP STEEL
62 | MULLION PAD SPACER PVC

\WdeOT\rwhc\Clients\Dunbarton Permanent\A - Florida Product Approvals\FL-15362 - Swinging Ext Doors - Redituff and Achiever\C - Drawings\FL-15362 (2020)\FL-15362.1-6.dwg

0.13" —=

e

248"~

—

056 —| |-

B

JAMB REINFORCEMENT

30

2.63"

0.94"

1.06"

August 11, 2020
Documents Prepared By:«,\Ja ',

FLorIOM.
/ONAL

Mippgrpant

BUILDING CONSULTANTS, INC.

Z @"-.
,, T
/,,IS
813.659.9197

”,
P.0. Box 230, Vairico, FL 33595

Phone No.:
FBPE Registry No. 9813

Lyndon F. Schmidt

Ry

DUNBARTON
ACHIEVER STEEL FRAME SYSTEM |P.E. No. 43409

BILL OF MATERIALS, GLAZING
DETAILS & COMPONENTS

PRODUCT:

DAC
JK
BY

-~ 2.5"

572"

' FRAME

REVISIONS

9/29/17 |UPDATE _TO 6TH _ED. (2017) FBC | LFS| PART OR ASSEMBLY:

3/23/15 |UPDATE TO 5TH ED. (2014) FBC

3 18/11/20 [UPDATE TO 7th ED. (2020) FBC

2
1

L
<€
o
S
=z
2

DATE: 3/14/1

scale:  N,T.S.

DWG. BY: JK

cHK. BY: LFS

DRAWING NO.:
FL-15362.3

SHEET 9 oF 9

© 2012 R.W. BUILDING CONSULTANTS IND.





